November 17, 2023

3.4 SLOPE & RATE OF CHANGE
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Find the slope of the following lines.
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7. Find the slopes of each line.
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8. Determine the slope of the line
containing the points with the
coordinates listed in the tables below.
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The slope m of a line that passes through
the points (x,, y1) and (x2, y2) is
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9. Find the slope of themline that passes
through the points f1 ,"fﬂ'and ((ﬁ',éf).
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10. Find the slope of the line that passes
through the points (1 2) and (5 2)

m=———=~=~*-—»m=o]

11. Find the slope of the line that passes
through the points (5,-1) and (5,3).
X1 Y X2 Y2
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12. Find the slope of the line that passes
through the pomts( -2,1) and (1 -3)
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13. Find the slope of the line that passes
through the points (4,4) and (g,;)
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